BUTT WELD ELBOW FLANGES (Pg 1/2)

For Schedule 80 Pipe ®

SAE 1518 61 SERIES / IS06162-1 PATTERN

FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B |C D E F Jmm H| K PART NO. | SCREw s1ze | o-rinG | W7
6137-08-08DM8 8.5 MKM 541 M8 x 50 210
1 1 2.00 | 2.12 | 1.44 | 1. . . 75 | . 1.
/2 /2 [6138-08-030M8 | > 500 .688 | .53 oo 125 72| 88 3
6137-12-08DM10 10.5 MKM 542 M10 x 60 214
3 1 2.25/2.621.70 | 1.875 | .875 | . ) . 2.1
Ya /2 6138-12-08DM10 5|26 0|1.875] .875 | .53 oioq5| 88| 88
6137-12-12DM10 10.5 MKM 542 M10 x 60 214
3 3 2.25|2.62|1.70 | 1.875| .875 | .7 ) 1.12 2.
/a Y4 [o135-12-120mM10 | 225 | 26 0|1.875) .875 | .73 oioii 5| 88 0
6137-16-12DM10 10.5 MKM 543 M10 x 65 219
3 2.50|2.82|1.94|2.062 | 1.031 | .73 1.00| 1.12 2.8
1 Ya 6138-16-12DM10 M10x1.5
6137-16-16DM10 10.5 MKM 543 M10 x 65 219
2.50 | 2.82|1.94|2.062|1.031| .04 1.00] 1. 2.
1 1 6138-16-16DM10 | 20 | 28 9 06 031 94 Mo ioxr.s | 100 1-38 8
6137-20-16DM10* 10.5 MKM 4532 M10 x 75 222
1 . 19 2.40|2.312| 1.1 .94 1.25] 1. 4.
14 1 6138-20-16DM107| > 00 | 319 0f23 88| 9% iox1.s >[1-38 8
6137-20-20DM10* 10.5 MKM 4532 M10 x 75 222
1 1 . 19 2.40|2.312| 1.1 1.2 1.25/ 1.7 4.
1a | 14 (5550 200mi07| 300 | 319|240 | 23 88 | 1.23 o owrs | 120 170 6
6137-20-24DM10* 10.5 MKM 4597 M10 x 90 222
1 1 . .19 /3.00|2.312| 1.1 1.4 1.25] 2. .
112 | 12 6138-20-24DM107| >0 | 3:19|3:00| 23 88 8 Miox1s >(2:00 - 1°°
6137-24-20DM12# 13.0 MKM 4533 M12 x 90 225
1 1 .25/3.75|2.90 | 2.7 1.406 | 1.2 1.38 1.7 7.
172 | 14 6138-24-20DM12% | > 2> | 375 2:90 50 06 3 Mi2x1.75| 138 > 0
6137-24-24DM12# 13.0 MKM 4533 M12 x 90 225
1 1 3.25|3.75/2.90 | 2.750 | 1.406 | 1.48 1.38 2.00 6.8
12 | 12 [ 5ssanaomies M12x1.75
6137-24-32DM12# 13.0 MKM 3521 M12 x 100 225
1 3.50 | 3.75 | 3.50 | 2.750 | 1.406 | 1.94 1.38 2.50 9.1
11> 2 6138-24-32DM12+ M12x1.75
MATERIAL : MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8
Mk bolts, add an SS at the end of the kit number (MK 501SS).
316L Stainless Please note that using stainless steel bolts may reduce the pressure rating of the assembly.
O-Ring Style Companion Style
(Flat Face)

—

37.5°

+H =

——
>é_'_2~—

r 77

c TAP-J c

-
O, ©
OO
\ﬁ\\y

Model 6137 / 6139 Model 6138 / 6140

3181 TRI-PARK DR.  GRAND BLANC, MI 48439 800-521-7918 810-953-1380 FAX 810-953-1385 INFO@MAINMFG.COM

SAE 3518 62 SERIES / 1IS06162-2 PATTER
[o] G
" | G | wmem | A B[ C| D | E|FFMIH| K o scaewsie [omne|WT
1/ 1/ zizz:gzzg:gm: 2.25(2.221.46 | 1.594 | .718 | .53 Msil15.25 88 | .gg |KM 341 M8 x 50 210 1.6
3/, 1/ :123:12:8:5218 2.50 | 2.811.70 | 2.000 | .937 | .53 M11<?>i.5 1.00| gg |MKM>42| MI10x60 24 16
3/a 3/a :123:1;:32218 2.50|2.81|1.70 | 2.000 | .937 | .73 M11(;)>£.5 1.00( 1.12 MKM 542 M10 x 60 214 2.5
1 3/ :123:1::33215 2.75|3.19|2.21 | 2.250 | 1.093 | .73 M1121-15.75 1.12] 1,12 [MKM 2533 M12x 75 219 4.1
6139-16-16DM12 12.5 MKM 2533|  M12 x 75 219
1 1 6140-16-16DM1a | 275|319 2:21|2.250 | 1.093 | .94 [o-or 1,12 1.38 : 4.1
114 1 Zizzjgjggm;i 3.25|3.75|2.44 | 2.625 | 1.250 | .94 M1121-10.75 138 1.38 [ kM 378 | MI2 X80 222 6.4
14 | 114 Ziii:;gjggm;i 3.25(3.75|2.44 | 2.625 | 1.250 | 1.23 M1121-10.75 138 1.75 | KM 578 Hi2x80 222 6.2

@ Order Separately
® Schedules 40, 160 and XXS also Stocked. Other Pipe and Tube Sizes are Available
46 NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. 1 Also Available for M12 Bolts # Also Available for M14 Bolts
© Copyright MAIN Mfg. 2017



For Schedule 80 Pipe ®

SAE 1518 61 SERIES / IS06162-1 PATTERN

BUTT WELD ELBOW FLANGES (Pg 2/2)

bolts, add an SS at the end of the kit number (MK 501SS).
Please note that using stainless steel bolts may reduce the pressure rating of the assembly.

37.5°

+—H =

QO

©
Al

3181 TRI-PARK DR.

GRAND BLANC, MI 48439

O-Ring Style
—

T+—

7

Model 6137 / 6139

DRILL-G
.

Companion Style

(Flat Face)

k%

—
e

—
AT

)

74
/7

TAP-J

r 77

Model 6138 / 6140

[o] G
"owe | St | wowsn | A B C| D | EFISMIH| K | e s Joma| VT
2 114 :izggiiggm;i 3.75|4.00 | 3.40 | 3.062 | 1.688 | 1.23 M1121.10.75 162 1.75 | KM 4334, M12 x 100 228 10.1
2 11> Zii;giiigmii 3.754.00 | 3.40 | 3.062 | 1.688 | 1.48 M1121.10.75 162 2.00 | KM 4234, M12 X 100 228 9.9
2 2 Zi;g;;;igmii 3.754.00 | 3.40 | 3.062 | 1.688 | 1.94 M112?<-10.75 1.62| 2.50 [KM4234)  M12x 100 228 9.4
215% 2 :12;28:22333: 4.50 | 4.50 | 3.96 | 3.500 | 2.000 | 1.94 M1121.10.75 2.00| 2.50 MM 4535, M12x120 | 232 1, ,
21/5°% 21/ Zii;ig:iggmii 4.50 | 4.50 | 3.96 | 3.500 | 2.000 | 2.32 M1121.10.75 2.00| 3.00 (KM 4535, MI2x120 | 232 1, ¢
3° | 214 Zii;::::iggmz 5.00 | 5.31 | 4.96 | 4.188 | 2.438 | 2.32 M1176.>(()2 2.25| 3.00 [ KM 248 | MIOX10 L 237 1o44
6137-48-48DM16 17.0 MKM 548 | M16 x 150 237
3° 3 [ ei3sasasomig| 500 | 531|496 4.188 | 2.438 | 2.90 = —2.25| 3.50 = ——123.6
31A% 3 :g;jz:iggmz 5.50 | 6.00 | 5.40 | 4.750 | 2.750 | 2.90 M1176'22 2.50| 3.50 | xM 49 | MI6 x 160 241 1328
314% 31/ :g;:g::z:gmg 5.50 | 6.00 | 5.40 | 4.750 | 2.750 | 3.36 M1176.)(()2 2.50 | 4.00 [ 1KM 249 | MI6X160 | 241 15 g
6137-64-48DM16 17.0 MKM 550 | M16 x 180 245
4° 3 eisoeasspmie | 6:00| 638|596 |5.125 | 3.062 | 2.90 2,75 3.50 x —>{42.0
6137-64-64DM16 17.0 MKM 550 | M16 x 180 245
4° 4 138-64-64DM 16 | 000 | 6:38 | 5.96 | 5.125 | 3.062 | 3.83 |— - 2.75 | 4.50 > ——38.8
MOUNTING KITs listed contain carbon steel bolts and Buna N O-Ring. To specifiy stainless Grade 18-8 MATERIAL :

316L Stainless

800-521-7918 810-953-1380 FAX 810-953-1385

INFO@MAINMFG.COM

SAE ])518 62 SERIES / 1IS06162-2 PATTER
FLANGE PIPE PART Gmm MOUNTING KIT®
SIZE SIZE NUMBER A B C D E F Jmm H K PART NO. SCREW SIZE
6139-24-20DM16 17.0 MKM 553 M16 x 100
1 1 .75 | 4.50 | 2. 1251.437 | 1.2 1.62 1.7
12 | 1Va [(iiozaz00mie | 375|450 | 2:96|3.125 | 1.43 3 v |1 >
6139-24-24DM16 17.0 MKM 553 M16 x 100 225
1 1 .75 | 4.50 | 2. 1251.437 | 1.4 1.62 ] 2. 10.2
12 | 12 [(oaaaome | 37% | 450|296 | 3125 | 143 8 Tmiexa | 102|290 .
6139-32-24DM20 21.0 MKM 554 | 3/4-10 x 120 228
1 4. .25|3.46|3.812|1.750 | 1.4 2.00] 2. 17.
2 11> 6140-32-24DM20 | 00 [ 32534638 >0 8 w2oxa.5 | 200 2:00 0
6139-32-32DM20 21.0 MKM 554 | 3/4-10 x 120 228
4. .25 3.46|3.812|1.750 | 1.94 2.00] 2. 16.4
2 2 6140-32-32DM20 | 00 [ 32534638 50 | 1.94 0 oxa.s | 200 230 6
6139-40-32DM24 25.5 MKM 2557  M24 x 150 232
1 . .88 |4.50 | 4.875 | 2.312 | 1.94 2.50| 2. .
21> 2 6140-40-32DM2a | 550 | 6:88 | 4.50 | 4.875 | 2.3 vy 50| 2.50 —=—136.6
6139-40-40DM24 25.5 MKM 2557  M24 x 150 232
1 1 . .88 | 4.50 | 4.875 | 2.312 | 2.32 2. . .
21> | 21> 6140-40-40DM2a | 550 | 6:88 | 4.50 | 4.875 | 2.3 32 [oas 50| 3.00 —=—135.8
6139-48-48DM30 32.0 MKM 556 M30 x 180 237
. . . . 2.812 | 2. . . .
3 3 [ eizoasasomso | 650|850 5.00 | 6.000 | 2.8 90 (=0 =3.00 3.50 ——158.0
® Order Separately @ 2500 PSI Max @ 2000 PSI Max @ 500 PSI Max
® Schedules 40, 160 and XXS also Stocked. Other Pipe and Tube Sizes are Available
NOTE: DIMENSIONS ARE IN INCHES UNLESS OTHERWISE NOTED. T Also Available for M12 Bolts # Also Available for M14 Bolts 47

© Copyright MAIN Mfg. 2017



